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FEEF P& P 54 B = 104 205 3049 6045 9045 1205 | 1504 | 180%
1/2 | :# 86.6 71.0 61.1 445 35.7 30.2 26.3 234
t + 15.05
1/3 | 0_3327636'6 95.7 80.0 69.6 51.2 413 348 30.3 26.9
t + 20.67
1/5 |rs = 0_831014'2 106.3 89.6 78.4 58.4 474 40.2 35.1 31.3
t +21.58
1/10  |rio = 0,7921956'5 119.0 100.7 885 67.0 55.0 471 415 37.2
t + 18.66
1/20 |0 = 0_7121284‘6 131.1 1103 97.2 745 62.1 53.9 48.1 436
t +12.29
1/30 |rs0 = 0_5419784'0 138.2 115.6 101.7 78.6 66.1 57.9 52.0 475
t + 845
_ 1149.4
1/50 |rso = —5% 147.1 1214 106.7 83.3 71.0 63.0 57.3 52.9
t + 4.26
_ 670.3
1/80 |rso =TT 3 155.4 126.2 110.8 87.4 75.5 67.9 62.4 58.2
B 507.6
1/100 |rie = —f5or1 158.6 128.0 112.3 89.1 715 70.1 64.8 60.7
t +0.74
_ 242.1
1/150 |riso = PR 166.2 1314 115.1 92.3 81.4 745 69.6 65.9
1/200 |0 = . n_mlli"o = 170.6 132.6 116.1 94.0 83.8 77.4 73.0 69.6
=U.60




